Relay-type Terminal Block

EwF . pitch 27mm

1]
i i | F1005NN-100A
=
E & AC660V  100A
ating
g 500V 1000MQ LI E
Axr lusulation Resistance] DC500V 1000MQ and over
it & E 3000V 143 E
5 B s 5 Withstands Voltage | AC3000V Iminute and over
R CE
25.5 C 27 2L.5 Screw Dia:r‘n:eter Mé
AT
= Compalt:lible. Wire 38. O
o EERT _
@ @ @ Rei%nfed Crimp Ffrmma R38 6
g[ ¥ —f% A2~ General Tolerance +0.5

[REScalel;, B Unitmm

23 C

T BI0 ﬁr.'ﬁt.‘i

P
P
P
oI
i

fSeaa=r=ie L -J-’
= w i
= “w L
N i i Ni=
|
GG (1/2
3
s A ] P.
« Ordering Form:Type No. No.of Poles(P)
- FERRE A AT b2 30 0N
« Connection screw:Tightening torque is 3.0N-m.
s ZOMA T a ¥ a— hE—A&(F2151, F2151L)
« Other optional *Jumper (F2151, F2151L)
M {t#%.~Specifications.
#B%/Part No, EBE/Part No. . Material 4%/ Standard Ti&/Size ALEE/Treatment %% /Remark
1 T Intemediate base | 7=/ —LAHE  Phenolic UL W Black %% /Poles 1P 2P 3P 4P 5P 6P 7P 8P
2 i F A End base A [ 7=/ —AHitlE  Phenolic UL B Black A 57 84 111 138 165 192 219 246
3 WisEf B End base B|7=/—AMilE  Phenolic UL B Black B 47 74 101 128 155 182 209 236
4 HEAR  Terninal # Brass C2680R R JE 2.0 =yl NAyE  Nickel-Plated
5 R E A Screw # Steel SWRM M6X 1.0 140 ZAD T O Tt | LSEARTA Type®
6 AN N Hexagon nut 23 Steel SWRM M6X 1.0 =y Ay%  Nickel-Plated *@%{/Foles 9p 10P 11P 12P 13P 14P 15P 16P
7 HAEAR/L R Connecting bolt 23 Steel SWRM M4X0.7 Zfi7aA=b  Trikot Cronate Trestmen
: - - — A 273 | 300 | 327 | 354 | 381 | 408 | 435 | 462
8 WiAEF > b Connecting nut #% Steel SWRM M4X0.7 ZfE7oA=b  Trivdnt Choncte Tretnent
9 EM Marking strip| 77 A/S—  Fiber UL B 10 B @ White B 263 | 290 | 317 | 344 | 371 | 398 | 425 | 452
10 77 3— Cover RYH—K%—F  Polycarbonate UL WE 1.0 % W] Transparence




